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DFEP #9 Solution:

4
Using the shell method, we want / 2raxVx? + 6z + 25 dx. Let’s complete the square
to get ’

4
7r/ 2/ (z +3)2 + 16 dx
0

7
Setting u = = + 3, gives 27 | (u — )\/ u? + 16 du, and now we can use trigonometric

3
substitution with v = 4 tan(), du = 4 sec?(0)df, leaving the integral

arctan(7/4)
27 / (4tan(f) — 3)V4sec? f4sec? § df

rctan(3/4)

This simplifies to:

arctan(7/4)
1677/ (4 tan(0) sec®(0) — 3sec*(0)) do

rctan(3/4)

= 167 (4 sec®(0)/3 — g (sec(f) tan(0) 4 In | sec(d) + tan(9)|))}

arctan(7/4)

arctan(3/4)
I can’t really blame you if you don’t want to write all that out.

DFEP #10: Wednesday, February 7th.

223 + 1022 + 162 + 7
224+ 52 +6

Compute the area of the region bounded by the curves y = 2z, y =

r=0,and x = 2.
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